MATHS

BOOKS - MBD

Lines and Angles



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1.In Fig.

o , lines AB
and CD intersect at O. If ZAOC + /BOE = 70° and

/BOD = 40°, find ZBOEF and reflex ZCOE.

° Watch Video Solution



https://dl.doubtnut.com/l/_z58HgvG2EvIM

2.In Fig.

lines XY and MN intersect at O. If /ZPOY = 90° and

a:b=2:3, find C.

o Watch Video Solution



https://dl.doubtnut.com/l/_Snfss3n6PpsJ

3.In given fig.

n —x = 3° find xand n.

if

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5LPJu4lnEcA

4.1n fig.

if a is greater than b by one third of right angle. Find

the values of @ and b.

° Watch Video Solution

5. If ray OC stands on line AB such that

/AOC = ZBOC (see fig.


https://dl.doubtnut.com/l/_wB0tX95tCa0B
https://dl.doubtnut.com/l/_olfAB4gp3Tr2

A B

) show

that LZAOC = 90°.

° Watch Video Solution



https://dl.doubtnut.com/l/_olfAB4gp3Tr2

6.n given fig.

c B

§] E

Rays OA, OB, OC, OD and OE have common initial point
O. Show that

LAOB + ZBOC + £ZCOD + ZDOFE + ZEOA = 360°

° Watch Video Solution



https://dl.doubtnut.com/l/_W7PXyl1KuvGE

7.1n the given Fig

Q

, lines, PQ
and RS intersect each other at point O. If
/POR: ZROQ = 5:7, find the measure of all

angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_pW6IHi97njiv

8.In the given fig.

R

P 0 Q
, ray OS is

on POQ. Rays OR and OT are the bisectors of ZPOS

and Z50Q) respectively. If ZPOS = z find ZROT .

o Watch Video Solution



https://dl.doubtnut.com/l/_Macx21TNJ4We

9.In fig.

LAOF
and /FOG form linear pair.
/EOB = /ZFOC = 90" and angleDOC = /ZFOG =
/AOB =30"@. Find the measure of ZFOFE, /COB

and Z/DOE.

o Watch Video Solution



https://dl.doubtnut.com/l/_JCNrbQwaZJPq

10. Match the following :

() sin (90°=A) (a) Sin A
(if) Cos 0° () 0
(iif) Sin 0° (c) 1
(iv) Cas (90°-A) (d) Cos A

° Watch Video Solution

11.1n fig.

LAOF


https://dl.doubtnut.com/l/_bDrSKLyMmpiQ
https://dl.doubtnut.com/l/_GrUYX4HBfQBN

and LFOG form linear pair.
/EOB = /ZFOC = 90° and angleDOC = angleFOG =
angleAOB = 30"@'.Name three pairs of adjacent

complementary angles.

° Watch Video Solution

12.In fig.

LAOF

and /FOG form linear pair.


https://dl.doubtnut.com/l/_GrUYX4HBfQBN
https://dl.doubtnut.com/l/_7CYFnTbyDGjF

/EOB = /ZFOC = 90" and angleDOC = angleFOG =
angleAOB = 30"@ Name three pairs of complementary
angles other than those covered in adjacent

complementary angles.

° Watch Video Solution

13.In fig.

LAOF

and /FOG form linear pair.


https://dl.doubtnut.com/l/_7CYFnTbyDGjF
https://dl.doubtnut.com/l/_jRa1aMFmIxJm

/EOB = /ZFOC = 90" and angleDOC = angleFOG =
angleAOB = 30"@'Name three pairs of adjacent

complementary angles.

o Watch Video Solution

14.1n fig.

LAOF
and LFOG form linear pair.

/EOB = /ZFOC = 90" and angleDOC = angleFOG =


https://dl.doubtnut.com/l/_jRa1aMFmIxJm
https://dl.doubtnut.com/l/_6OzD9g8qsCAY

angleAOB = 30"@ .Name three pairs of supplementary

angle.

° Watch Video Solution

15.In fig.

LAOF
and /FOG form linear pair.
/EOB = /ZFOC = 90" and angleDOC = angleFOG =

angleAOB = 30"@"Name three pairs of complementary


https://dl.doubtnut.com/l/_6OzD9g8qsCAY
https://dl.doubtnut.com/l/_rgkhf1sC5T3F

angles other than those covered in adjacent

complementary angles.

° Watch Video Solution

16. In given fig.
. AB and CD are two intersecting lines. OP and OQ are

respectively bisectors of ZBOD and ZAOC . Show

that OP and OQ are opposite rays.

° Watch Video Solution

17. Angles forming a linear pair are supplementary.


https://dl.doubtnut.com/l/_rgkhf1sC5T3F
https://dl.doubtnut.com/l/_CE5EBTSxZG8t
https://dl.doubtnut.com/l/_gJucbiqPCCnH

Al

Answer:

° Watch Video Solution

18. If two adjacent angles are equal, then each angle

measures 90°.

Al


https://dl.doubtnut.com/l/_gJucbiqPCCnH
https://dl.doubtnut.com/l/_XcnqY40SrTHw

Answer:

O Watch Video Solution

19. Angles forming a linear pair can both the acute

angles.

A1l


https://dl.doubtnut.com/l/_XcnqY40SrTHw
https://dl.doubtnut.com/l/_Q9jDX6f5TqMG

Answer:

o Watch Video Solution

20. Two distinct lines in a plane can have two points in

common.

AT

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_Q9jDX6f5TqMG
https://dl.doubtnut.com/l/_y9BNPbEEGhcT

21. If angles forming a linear pair are equal, then each

of these angles is of measure 90°.

A1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_y9BNPbEEGhcT
https://dl.doubtnut.com/l/_o5LNWGKGtRUT

22. If two lines intersect and if one pair of vertically
opposite angles is formed by acute angles, then the
other pair of vertically opposite angles will be formed

by obtuse angles.

Al

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_g9mauAghK0n5
https://dl.doubtnut.com/l/_fHetyESLyQhz

23. If two lines intersect and one of the angles so
formed is a right angle, then the other three angles

will not be right angles.

Al

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fHetyESLyQhz

24. Two distinct points in a plane determine a ...

Line.

° Watch Video Solution

25. Two distinct ......... in a plane cannot have more than

one point in common.

° Watch Video Solution

26. Given a line and a point, not on the line, there is
one and only .......... line which passes through the given

point and is to the given line.



https://dl.doubtnut.com/l/_obGeszw4Btfm
https://dl.doubtnut.com/l/_4oiTP9mMyYqU
https://dl.doubtnut.com/l/_13s2XImA75bi

I o Watch Video Solution

27. A line separates a plane into ............ parts namely the

o Watch Video Solution

28. If one angle of a linear pair is acute, then its other

angle will be ... :

o Watch Video Solution



https://dl.doubtnut.com/l/_13s2XImA75bi
https://dl.doubtnut.com/l/_UYtHd4fG0iOK
https://dl.doubtnut.com/l/_ODC9l4pYPWZl

29. If a ray stands on a line, then the sum of the two

adjacent angles so formed is............. :

° Watch Video Solution

30. If the sum of two adjacent angles is 180°, then the

......... arms of the two angles are opposite rays.

° Watch Video Solution

31.If two lines intersect, then vertically opposite angles

are......... .

° Watch Video Solution



https://dl.doubtnut.com/l/_42WmIxBgGDH2
https://dl.doubtnut.com/l/_XnCNnhY0F6Ru
https://dl.doubtnut.com/l/_8K7h1M4uknHX

32.1n fig.

o Rl Ao A
i 1 —
.-{1'_; E D

. if
ABIICD, EF 1 CD and ZGED = 126°, find

/AGE, /GEF and /FGE.

° Watch Video Solution



https://dl.doubtnut.com/l/_8K7h1M4uknHX
https://dl.doubtnut.com/l/_cgNht1gEgZWu

33.In fig.

1107

K]

’

if PQIIST, /PQR = 110° and /RST = 130°, find

ZQRS.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ht8r4qVURUAl

H C S

, PQ and RS are two mirrors placed parallel to each
other. An incident ray AB strikes the mirror PQ at B, the
reflected ray move along the path BC and strikes the
mirror RS at C and again reflects back along CD. Prove

that AB Il CD.

° Watch Video Solution



https://dl.doubtnut.com/l/_psjOGuU5cjP1
https://dl.doubtnut.com/l/_cRxIqXNT8HNr

35.1n given fig.

, given
AB| | CDif /1 = (120 — z)° and 45 = 5z°, find

the measures of /1 and /5.

o Watch Video Solution

36. If two parallel lines are intersected by a transversal,

then each pair of corresponding angles are ........ :



https://dl.doubtnut.com/l/_cRxIqXNT8HNr
https://dl.doubtnut.com/l/_njQicemNuoSU

l @ Watch Video Solution J

37. If two parallel lines are intersected by a a
transversal, then interior angles on the same side of

the transversal are ......... )

° Watch Video Solution

38. Two lines are perpendicular to the same line are

......... to each other.

° Watch Video Solution



https://dl.doubtnut.com/l/_njQicemNuoSU
https://dl.doubtnut.com/l/_b3un5BU58v2S
https://dl.doubtnut.com/l/_6EpObUPBhwUf

39. If a transversal intersects a pair of lines in such a
way that a pair of alternate angles are equal, then two

lines are. ......... )

O Watch Video Solution

40. Two lines parallel to the same line are ... to each

other.

° Watch Video Solution

41. If a transversal intersects a pair of lines in such a

way that the sum of interior angles on the same side


https://dl.doubtnut.com/l/_NdfiRl6Ba7TR
https://dl.doubtnut.com/l/_YY5KHUZ4PHhf
https://dl.doubtnut.com/l/_Hu3ysHd7Yfbo

of the transversal is 180°, then the lines are ......... .

o Watch Video Solution

42.n the given fig.

IR s K BT S

FX) 135°

1107

-t -
Q A
if , sides QP
and RQ of APQR aer produced to points S and T
respectively. If Z/SPR = 135° and /ZPQT = 110°,

find /PRQ.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hu3ysHd7Yfbo
https://dl.doubtnut.com/l/_imBmOCyd62yI

43. In the given fig.

/X =62°, /XYZ =54°. If YO and ZO are the
bisectors of /XY Z and ZXZY respectively of

AXY Z,find ZOZY and L YOZ.

o Watch Video Solution



https://dl.doubtnut.com/l/_uYdl3ZScdFeE

44.In the given Fig.

if
ABIIDE, /BAC = 35° and ZCDE = 53°, find

ZDCE.

o Watch Video Solution



https://dl.doubtnut.com/l/_OBYiIdkBfKA2

45. In the given Fig.

T. P
95
A0~ =

,if lines PQ
and RS intersect at point T, such that ZPRT = 40°,

ZRPT = 95° and ZT'SQ = 75° find LSQT.

° Watch Video Solution



https://dl.doubtnut.com/l/_27DKq33XnhDl

46. In the given Fig.

, if
PQ L PS, PQIISR, /SQR=28°  and

ZQRT = 65°,then find the values of x and y.

° Watch Video Solution

47. In Fig., the side QR of APQR is producted to a

point S. If the bisectors of ZPQR and ZPRS meet at


https://dl.doubtnut.com/l/_qhdChGEo0rAj
https://dl.doubtnut.com/l/_xdJvLUXpai6b

point T, then prove that

1
ZQTR = 5 /QPR.

o Watch Video Solution

48. If the angles of triangle are in the ratio of 2:3:4,

find the three angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_xdJvLUXpai6b
https://dl.doubtnut.com/l/_uhQLjTVboAhd
https://dl.doubtnut.com/l/_qjRJ8MwyCIgP

49, Prove that if one angle of a triangle is equal to the

sum of the other two angles, the triangle is right

angled.

° Watch Video Solution

50.In the given Fig



https://dl.doubtnut.com/l/_qjRJ8MwyCIgP
https://dl.doubtnut.com/l/_dbxdI7EH2ZlO

QT 1 PR, /TQR = 40° and /SPR = 30°, find the

value of x and y.

o Watch Video Solution

51.In the given figure

prove

thatg =a + 8 + 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_dbxdI7EH2ZlO
https://dl.doubtnut.com/l/_CRG0RhvRYBoY

52.In given fig.

find x.

° Watch Video Solution

53. Prove that sum of all the interior angles of a

pentagon is 540°.

° Watch Video Solution



https://dl.doubtnut.com/l/_P4Q1zpMwZfxZ
https://dl.doubtnut.com/l/_uSa5VJkqLNfO
https://dl.doubtnut.com/l/_A6jn0H9fUut2

54. Prove that the angle between internal bisector of
one base angle and the external bisector of the other

is equal to one-half of the vertical angles.

o Watch Video Solution

55.In the given Fig

, Sides AB


https://dl.doubtnut.com/l/_A6jn0H9fUut2
https://dl.doubtnut.com/l/_yFX6gFrKPqYk

and AC of a AABC are produced to E and D
respectively. If respective bisectors BO and CO of
ZCBE and ZBCD intersect each other at point O,

1
prove thatZ/BOC = 90° — ELBAC.

° Watch Video Solution

56. An exterior angle of a triangle is less than either of

its interior opposite angles.

Al


https://dl.doubtnut.com/l/_yFX6gFrKPqYk
https://dl.doubtnut.com/l/_JbMPEWmDxMk0

Answer:

° Watch Video Solution

57. Sum of the three angles of a triangle is 180°.

Al

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JbMPEWmDxMk0
https://dl.doubtnut.com/l/_HPnU80amkjxK

58. Sum of the four angles of a quadrilateral is the four

right angles.

A1l

Answer:

o Watch Video Solution

59. A triangle can have two right angles.


https://dl.doubtnut.com/l/_Bpf3wzsNIv1L
https://dl.doubtnut.com/l/_AM1rYy9EDxNB

Al

Answer:

o Watch Video Solution

60. A triangle can have two acute angles.

Al


https://dl.doubtnut.com/l/_AM1rYy9EDxNB
https://dl.doubtnut.com/l/_JVTJzg4hevJb

Answer:

o Watch Video Solution

61. A triangle can have two obtuse angles

Al


https://dl.doubtnut.com/l/_JVTJzg4hevJb
https://dl.doubtnut.com/l/_VwkkVoC46pjg

Answer:

o Watch Video Solution

62. An exterior angle of a triangle is equal to the sum

of the two interior opposite angles.

Al

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_VwkkVoC46pjg
https://dl.doubtnut.com/l/_pzeNBpbJjThu

63. Sum of the three angles of a triangle is ... :

o Watch Video Solution

64. An exterior angle of a triangle is equal to the two

............. opposite angles.

O Watch Video Solution

65. An exterior angle of a triangle is always ...

than either of the interior opposite angles.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_pzeNBpbJjThu
https://dl.doubtnut.com/l/_ttEru0jVlHts
https://dl.doubtnut.com/l/_iMcnIWymYtHd
https://dl.doubtnut.com/l/_ZHzqewQEBjR2

66. A triangle cannot have more than ... right

angles

° Watch Video Solution

67. A triangle cannot have more than .. obtuse

angles.

o Watch Video Solution

68. Sum of the angles of a quadrilateral is ............. :

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ZHzqewQEBjR2
https://dl.doubtnut.com/l/_bnEX2yE2XCJU
https://dl.doubtnut.com/l/_ShdaU5NFnwi0
https://dl.doubtnut.com/l/_A85LvCB2sJk4

69. In fig.

AB and CD

intersect  each other  at point  O. If

LAOC + /BOE = 70° and ZBOD = 40° then the

value of Z/BOFE and reflex ZCOEF are:

A. /COE = 250°, /BOE = 30°

B. /COE = 70°, /BOE = 110°


https://dl.doubtnut.com/l/_A85LvCB2sJk4
https://dl.doubtnut.com/l/_gjgaFpnYTdE9

C. /COE = 30°, /BOE = 110°

D. /COE = 50°, /BOE = 120°.

Answer:

o Watch Video Solution

70.1n fig.

w2

4%

POQ is a


https://dl.doubtnut.com/l/_gjgaFpnYTdE9
https://dl.doubtnut.com/l/_uAc04jxLV02x

line, /ZPOR = 4x and ZQOR = 2x then the value of

Xis :

A.20°

B.50°

C.30°

D.90°.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uAc04jxLV02x

71.In the given fig.

if

/AOC + ZBOD = 75° then the value of ZCOD is :
A.120°
B.105°
C.130°

D.75°.

Answer:

[ o Wakl. \nNdaa CAl..ktam ]



https://dl.doubtnut.com/l/_dWY8fmbivEqT

~—_¥YVdi\ll VIUCU JUVIULIVII )

72.1n the fig.

value of y

A.90°.

B.18°

C.30°

D.60°.


https://dl.doubtnut.com/l/_dWY8fmbivEqT
https://dl.doubtnut.com/l/_fk0EB92mKbHA

Answer:

o Watch Video Solution

73.1n the given fig.

Bx+30°
4x*

the value

of xis:

A.15°

B.30°


https://dl.doubtnut.com/l/_fk0EB92mKbHA
https://dl.doubtnut.com/l/_L01tk0S8BAWP

C.45°

D. 60°.

Answer:

° Watch Video Solution

74. In fig. , ZPOR and ZQOR form a linear pair if

a — b = 80° then values ofaand b are:

A.a = 130°,b = 50°

B.a = 50°,b = 130°

C.a = 60°,b = 120°

D.a = 40°, b = 140°.


https://dl.doubtnut.com/l/_L01tk0S8BAWP
https://dl.doubtnut.com/l/_pIqQnoDuLOIK

Answer:

o Watch Video Solution

75.1n fig.

/XY Z = 64° and XY is produced to point P. If ray YQ

bisect ZZY P then the value of ZXYQ is :

A.122°


https://dl.doubtnut.com/l/_pIqQnoDuLOIK
https://dl.doubtnut.com/l/_bTEe1zviEHb3

B.126°

C.302°

D. 258°.

Answer:

o Watch Video Solution

76.1n fig.

- -
, b is more


https://dl.doubtnut.com/l/_bTEe1zviEHb3
https://dl.doubtnut.com/l/_4XPtiddupRNK

than one-third of a right angle than a. The values of a

and b are:

A.a =95°,b=85°

B.a = 105°,b = 75°

C.a = 65°,b=115°

D.a = 60°,b = 120°.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_4XPtiddupRNK

77.1n fig.

1035°

n —x = 3° then values of xand n are:

Ax =126°,n = 129°

B.x = 125°, n = 28°

C.z = 150°, n = 95°

D.x = 135°,n = 65°.


https://dl.doubtnut.com/l/_ho0jVjddzXfb

Answer:

o Watch Video Solution

78. For parallel lines the sum of interior angles on the

same side of a transversal is :

A.180°

B.90°

C. (A) and (B) both

D. None.

Answer:

I O Watch Video Solution


https://dl.doubtnut.com/l/_ho0jVjddzXfb
https://dl.doubtnut.com/l/_tz9TMGLnOOmr

'

L i

qlIr and

p is transversal. If Z1 and £2, 3: 2 then the values of

/3 and /4 are:

A /3 =108°, /4 = T72°

B./3 = 72°, /4 = 108°

C./3="175° /4 =105°


https://dl.doubtnut.com/l/_tz9TMGLnOOmr
https://dl.doubtnut.com/l/_kykzzfAwzSbn

D. /3 = 85°, /4 = 95°.

Answer:

° Watch Video Solution

80. In fig. the values of x and y are :

o Watch Video Solution



https://dl.doubtnut.com/l/_kykzzfAwzSbn
https://dl.doubtnut.com/l/_2VHCrFfAmKhw

81.In fig.

, if

AB| | CD,CD | | EF and y:z = 3:7 then value

of xis :
Az = 126°
B.z = 120°
C.z = 58°

D.z = 62°.


https://dl.doubtnut.com/l/_310krni7AJ1K

Answer:

o Watch Video Solution

82.In fig.
e _-ﬁ F o= -
A B
n
=4 -
C E D

, if
AB| | CD,EF 1 CDand ZGED = 126° then the

value of ZAGE is :

A.126°


https://dl.doubtnut.com/l/_310krni7AJ1K
https://dl.doubtnut.com/l/_92YEIUrQKtCm

B.120°

C.128°

D. 54°.

Answer:

° Watch Video Solution

8. In fig.

1107

K]

’

if PQIIST, /PQR = 110° and /RST = 130°, find

ZQRS.



https://dl.doubtnut.com/l/_92YEIUrQKtCm
https://dl.doubtnut.com/l/_Wosx6kFJMrRk

A.60°

B.120°

C.80°

D.90°.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Wosx6kFJMrRk

84.In fig.

—i L L
1
¥
127¢
I i = ik
- ': q A D o

, if
AB| | CD, ZAPQ@ = 50° and ZPRD = 127° then
values of xand y are :
Ax=50°y="T7°
B.x =40°,y = 85°
C.z =60°,y =90°

D.z = 85°,y = 75°.


https://dl.doubtnut.com/l/_x8QF0Y0QkB8s

Answer:

o Watch Video Solution

AB | | CD,the value of x s :

A.185°

B.280°


https://dl.doubtnut.com/l/_x8QF0Y0QkB8s
https://dl.doubtnut.com/l/_Z7L3QmLD0j0U

C.285°

D.195°.

Answer:

° Watch Video Solution

86. For two parallel lines sum of interior angles on the

same side of a transversal, is ... .

A.90°

B. 1202

C.80°

D.180°.


https://dl.doubtnut.com/l/_Z7L3QmLD0j0U
https://dl.doubtnut.com/l/_npGKKi7VC56i

Answer:

o Watch Video Solution

87.1n fig.

, the sum

of Za and Zbis :

A Zc+ Zd

B.Zd + Ze


https://dl.doubtnut.com/l/_npGKKi7VC56i
https://dl.doubtnut.com/l/_zUEPKRMYoeOP

C.Zb+ Zc

D.Za + Ze.

Answer:

° Watch Video Solution

88. In a triangle interior opposite angle is always less

than :

A. any angle of the triangle

B. Opposite angle

C.right angle

D. exterior angle.


https://dl.doubtnut.com/l/_zUEPKRMYoeOP
https://dl.doubtnut.com/l/_Ep3cVfDomzof

Answer:

o Watch Video Solution

89. In a triangle sum of two interior angles is always

equal to :

A. exterior angle

B. right angle

C. third angle

D. None.

Answer:

I O Watch Video Solution


https://dl.doubtnut.com/l/_Ep3cVfDomzof
https://dl.doubtnut.com/l/_SrJSVYtiNbGB

90. In fig.

>

/1 = 70° then the value of /4 is :

A.70°

B.110°

C.140°

D. None.


https://dl.doubtnut.com/l/_SrJSVYtiNbGB
https://dl.doubtnut.com/l/_p2BlxN2zZlK8

Answer:

o Watch Video Solution

91.In a triangle exterior angle is always greater than :

A. interior opposite angles
B. third angle

C.90°

D. None.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_p2BlxN2zZlK8
https://dl.doubtnut.com/l/_j5k2gFxvXTRU

92.1n fig.

, the sides
QP and RQ of a APQR are produced to points Sand T
respectively. If Z/SPR = 135° and /PQT = 110°

then the value of ZPRQ is :

A.75°

B.65°


https://dl.doubtnut.com/l/_meh5q1A9N6AO

C.85°

D.95°.

Answer:

° Watch Video Solution

93. In the given fig.

/X =62°, /XYZ =54°. If YO and ZO are the


https://dl.doubtnut.com/l/_meh5q1A9N6AO
https://dl.doubtnut.com/l/_5Dd2uaci2xrj

bisectors of /XY Z and /ZXZY respectively of

AXY Z,find ZOZY and L YOZ.

A.32°,121°

B.45°, 115°

C.38°,122°

D. 46°, 124°.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5Dd2uaci2xrj

i - * ,if lines PQ
and RS intersect each other at point T such that
/ZPRT = 40°, ZRPT = 95° and ZT'SQ = 75° then
the value of 'angleSQT is :

A.60°

B.75°

C.85°


https://dl.doubtnut.com/l/_Hwplqfzb1vEg

D.65°.

Answer:

° Watch Video Solution

if


https://dl.doubtnut.com/l/_Hwplqfzb1vEg
https://dl.doubtnut.com/l/_hIGErKKxBCMt

PQ L PS, PQ| |SR  ZSQR =28°

ZQRT = 65° then the values of x and y are :

Az = 37° y=53"@

B.z = 63°y=37"@.

Answer:

and

o Watch Video Solution



https://dl.doubtnut.com/l/_hIGErKKxBCMt

